YAMAHA = IhEEta15H/ 28

INSTALLING MANUAL FOR MULTIFUNCTIONAL _

P25 yraoreare Sraer= CROSS BAR/ BLACK FOR NMAX 155 2™ os ZEEERBAE
o RHEBE MDY ES EHACHIEASE - ERZH, BOENEETSRREH - I B IEREsK -

e Before installing, please read Installing Manual well.

o8 1-1 &2+ ACCESSORIES

FORCE 2.0 ABS BEEHE R By B BC ¢ NMAX 1558 /&= A i 4
Accessories for FORCE 2.0 Accessories Accessories for NMAX 155 2'°
(M8) (M8) (M10) (M10)

(IEZFICW) (R ZFICCW)

g 0 9.

(IEZFICW) (R ZFICCW)

5. 8.

x1
ms T m AL

I NLCY Maximum load 3KG ! =)

1 | ‘ Y

I F| 85/ Central Hole Distance:320mm ———— ] | X2
(T oot — x1Set
mn 2-1 X EBE/ INSTALLING MANUAL

R AERGE

Take apart original mirror left and right (1) (2) $8 [ $2 44 (M8)/ Mirror mount bolt (M8)

(A (B) $8FE 12 44 (M10)/ Mirror mount bolt (M10)
@ B £ 2 [B| 55 92 44 (M8)/ Stainless Button Head Socket Bolt (M8)
(@) B P <24 (M10)/ Stainless Hex Socket Head Cap Bolt (M10)
(5) B4/ Accessories hanger
53 B 9244 (IE5F) s . .
Mirror mount bolt (CW) @ % IhEEE IR/ Multifunctional Cross Bar
(M8) (7) E 351/ Adaptor

(M46) U218 (M10)/ U nut (M10)
@
®

/%

HARBEASTHEME

Hanger position by the

I
I
‘ personal requirement @
! (M8)
L En [~ ‘
s | ‘
i
;

1
. |
— M0,
S © % @ sm g (5 7)

I~

A EEA PR
Mirror mount bolt (CCW)
Gap in the hex bottom

FRRBARREGR

Take apart original mirror left and right

T TR BSRESR
Take apart bolt




